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w L BE REDU CED : Withholding Tax Table
| ’ Effective On January 1, 1946
F
,I TABLE PUB”SHED If the payroll period with respect to an employee is WEEKLY
i =
‘ Em;zloyees Are Requested To And the wages are | And the number of wihholding exemptions claimed is—
' Clip Out The Table And Atleast/Butlessy 0 | 1 | 2 | 3 | NN
Keep For Reference. | than | The amount of tax to be withheld shall be— - =N
The new tax law becomes effec- | ll7 % of :
tive January 1, 1946, and will mean $ 0 $11 |wagesi$0 ($0 $0 ($0 $0 ($0 |$0 (30
a reduction in taxes for everyone. 11 12 $§ 2.00 Jd0p O 0 0 0 0 0 0
The Treasury Department has 12 13 2.10 B0 O 0 0 0 0 0 0
furnished us a new table which' will 13 14 2.30 b0l 0 0 0 0 0 0 0
be used for the purpose of with- 14 15 2.50 70l o 0 0 0 0 0 0
holding taxes during the year 1946. 15 16 370 801 0 0 0 0 0 r""
Your employer is required by law 16 17 2'8 0 * 0
to withhold from your check the . 1.00{ 0 0 0 0 0 0 0
amount shown in the table and 17 18 3.00/ 1.20; O 0 0 0 0 0 0
send it to the Treasury Depart- i-g ég ggg %gg 8 g 8 8 8 g g
ment. g 3
b2 The amount of tax you will pay 20 21 | 3.50] 1.70], O 0 0 0 0 0 04" ‘
| will depend on tke number of ex- 21 29 370 1.80| 0 0 0 0 0 0 0 i
emptions you claim and the amount ] A :
‘ of money you make. Each employ- 22 23 3.80  2.00 20 . 0 0 0 0 0 0
: ¢ : 28 24 4.00] 2.20 .40{ " 0 0 0 0 0 0 -
ee is entitled to one exemption for 24 5 4.2 2.40 0
himself and one for each depend- 2 -20 2 -60 0 0 0 0 o :
! ent. In order for a person to be a 25 26 4.40| -2.50, . 70] O 0 0 0 0 0 ;
i dependent so that you may claim an 26 27 4.50{ 2.70 90 0 0 0 0 0 0
i exemption for him, three condi- 27 28 4.70, 2.90), 1.00; O 0 0 0 0 0 ;
i tions must be fulfilled: first, you 28 29 4,90 8.00/ 120/ O 0 0 0 0 0 f
JAB! must furnish more than half the 29 30 5.00| 8.20| 140/ O 0 0 0 0 0
R b support; second, the dependent 30 37 5500 3.40] 1.60 0 ) 0 ) 6/ '
must not earn as much as $500.00 20| ¥ | 0 ; .
J per year; third, he must be related 31 32 5.40 3.60 1.70 Y 0 0 0 0 0 %
S to you. This relationship must be 32 33 5.60{ 3.70; 1.90 100 0 0 0 0 0 [t
I closer than a cousin. 33 34 | 5.70{ 390 2100 .20 0 | 0 | 0 | O | O !
‘,{ Every employee is required to 34 35 5.90] 4.10{ 2.20 40] 0 0 0 0 RS b
] ‘ furnish his employer with an ex- 35 36 6.10] 4.20| 2.40 ..60] 0 0 0 0 0 :
g SR O AC ML el Show Rty 36 37 | 6.20| 4.40[ 2.60 .80 0 VIS B e R
many exemptions he claims. You 37 38 6.40| 4.60{ 2.80 90 o0 0 0 0 0
now have such a certificate on 38 39 6'60 4.80 2'90 1.10/ 0 0 0 0 0
file and, if it is not up-to-date, you 39 40 6.80] 4.90| 3.10] 1.30] 0 0 0 0 ) !
should come by the Personnel Of- - . - 0 o h
ﬂ fice and change it. At any time 40 41 6.90/ 5.10] 3.30/] 1.40;] O 0 0 0 0 K
; there is a change in the number 41 42 7.10{ 5.30; 3.40; 1.60] © 0 0 0 0 L
i of your dependents, you should 42 43 | 7.30] 5.40/ 360 18] 0o | 0 | 0 [ 0 | © Q
¥ i chgnge your certificate. 43 44 7.40| 5.60, 38.80{ 2.00 100 0 0 0 0
i'! ‘ howhoivtm wl:rl::e ftﬁ-l;::e ?lx:l((ii h.eret his 44 . 45 7.60| 5.80] 4.00/ 2.10 80| 0 0 0 0 7 H‘t
L ) : s in e
k. first two columns of the table the ig 22 ggg ggg i;’g %gg (5;8 g g 8 g b]
i amount of money you earn per i s i . C
i week; second, follow the line 47 48 8.20| 6.30] 4.0; 2.60 80 O 0 0 0 ]
- across the table to the column 48 49 8.40, 6.50; 4.60/ 2.80] 1.00{ O 0 0 0
IRy which shows the number of ex- 49 50 8.60 6.60| 4.80] 3.00 1.20| 0 0 0 | 0 [ ih
' ST LN emptions you claim. This figure is 50 51 8.80; 6.80; 5.00/ 3.20; 1.30] O 0 0 0 |
N the amount that will be withheld 51 52 8.90| 7.00[ 5.20| 3.30| 1.50| 0 0 0 0 !
. from your check. For example, a 52 53 9.10/ 7.20/ 5.30, 8.50; 1.70| 0 0 0 0 }
{ married man with two children is 4 : 0 ‘
Lty entitled to one exemption for him. 53 b4 9.30| 7.30f b.50; 3.70{ 1.80; O 0 0 )
. He self, one for his wife (if his wife b4 55 9.50, 7.50] 5.70; 3.80| 2.00 .20 O 0 . 07
it does not work), and one each for 656 56 9.70f 7.70] 5.80| 4.00] 2.20 .40{ O 0 0 b’l
R | the two children, making a total of 56 57 9.90; 7.90} 6.00{ 4.20; 2.40 b0 0 0 0 )
g four exemptions; and if he earns 59 58 | 10.10] 8.10] 6.20| 4.40{ 2.50] 70| © 0 0 \
H il ﬁ'{ﬂp ge}xl' week, here is how he 58 59 10.30{ 8.30] 6.30; 4.50{ 2.70 90 O 0 0 by
ly' i e w;nges ;i t&’z f}llfstwtl»l\}oﬂcr:lt find 59 60 10.50 B8.40f 6.50] 4.70{ 2.90; 1.00; O 0 e ’el
| umns
b i e AR | e oy e eae s e sy e
| Y the line with the $47.00 in the first g % 3 $ 4 d 0
E | column and $48.00 in the second. 64 66 11.60/ 9.50{ 7.50/ b.60{ 3.80] 2.00 200 0 L.
the able 10 eolumn s koo | 68 | 70 | 1220 1020] 520 630 450 270 .m0l o | 0 |48
el e to column 4 where hel{ . : . g : 5 v~ 4
| Rt lﬁmgo thattsthe amount of his 70 72 | 12.60] 10.60] 8.60] 6.70] 4.80] 3.00] 1.20] 0 0 |
il WEls o gest that 72 74 | 13.00| 11,00{ 9.00{ 7.00| b5.20] 38.30| 1.50, @ 0 i
IR these two pages and. e ti;f put 74 76 | 18.40|-11.40| 9.40{ 7.30| 5.50] 3.70{ 1.90{ 0 0 :
g M2 76 78 | 13.70| 11.70| 9.70{ 7.70| 65.90| 4.00{ 2.20{ .40 g
vl = 78 80 14.10| 12.10| 10.10{ 8.10] 6.20{ 4.40; 2.50 70 '
¢ Sl s :
. To Give Parties 80 82 14.50] 12.50] 10.50] 8.50] 6.50] 4.70] 2.90] 1.10] O i
:‘Hr r 82 84 14.90| 12.90{ 10.90; 8.80/ 6.90{ 5.10/ 3.20| 1.40] O 0
e fConinyesii ity sus. Ote) 86 | 85 | 1060 is.go| 1180| 60| 80| 570 s90| Zaol 0
gl Ly gy ol kree 88 90 | 16.00] 14.00| 12.00] 10.00] 8.00| 6.10] 4.30] 2.40] .60~
Bl e S e e 90 92 | 16.40] 14.40] 12.40| 10.40] 8.30] 6.40] 4.60] 2.80 -93
,’ e drivers of the Ecusta buses and 92 94 16.80| 14.70] 12.70{ 10.70; 8.70; 6.80] 4.90/ 3.10 1-20
v ! schedules will be posted in these 94 96 17.10{ 15.10; 13.16/ 11.10;) 9.10{ 7.10{ 5.30] 3.50] 1. 0
3 buses. 96 98 17.50| 15.50{ 13.50( 11.50f 9.50; 7.60| 5.60{ 3.80 2-00
1]‘- } Employees who have not already 98 100 17.90| 15.90| 13.90| 11.90{ 9.90| 7.80| 6.00] 4.10{ 2.3
LR (1 secured tickets for their children /
RA to attend one of the parties are (RONTINIED DNALAGERTHIEIESD /'

‘ ‘ ‘ urged to do so at once.
(3




